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4	%+��� �

�	���
%�	'�S�	�
%��

1. Total solids (TS)

1.1 
%��������&"'��$��\S

1. P#� 	�
�   (Evaporating dishes)
2. ����'!��J�� (Water bath)
3. HP�����#� (Desiccators)
4. ��#�' (Oven)
5. 
�	����G�����
�� "
1.2 ��5��	���
%�	'�S

1. �J��P#� 	�
�   !��'$���#�'�����F�D�
C  103-105  ��%�
(�
(� �  
���
��� 1 G���H
�
��0� �CJ�$�#
 O�$�HP�����#�

2. 

�����$G#  �J��P#� 	�
� 
�G����J������  �

�C
��J������ A �	�

3. 
N 0����� 0���J��$�#
N#����� 0��"�	C����� 0���J������	�'�	C
��	��0�����$�P#� 	�
� 

��J ���!�	�
� '�
�	��������J������	�'��F�D�
C!�#��� 100  ��%�
(�
(� �  ����#�
4. ����������#�'�����'��
��F�D�
C!�#���  103-105  ��%�
(�
(� �  
���
���� 0���#�   1

G���H
�
5. �����������#�'  ��0� �CJ�$�#
 O�$�HP�����#�  G����J�������

�C
��J������  B  �	�

1.3 �	�%�	��\

N���NO���J��
"  (
�./�)     =           (B-A)  x  1000
               �	C
��	���� 0���J��  (
C��C�C�	)

H"    A   =   �J������P#� 	�
� �0����	�C
�	���5 (
C��C�	�
)
          B  =   �J������P#� 	�
� ������	�C
�	���5  (
C��C�	�
)
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2. Suspended solids  (SS)

2.1 
%��������&"'��$��\S

1. �	�"�M�	��$ ��#�
2. �	���	� '��
��	5 (Buchner funnet)
3. 
�	����"�"����% (Suction pump)
4. ��#�' (Drying  Oven)
5. 
�	����G�����
�� "
2.2 ��5��	���
%�	'�S

1. �'�	�"�M�	��$�#��#������F�D�
C  103-105  ��%�
(�
(� �'��'�P#� 
���
C
�� 
p� "5�	�
�F 1 G���H
�  ��0� $�#
 O�$�
"��C
�
��	5�	�
�F  30  ����

2. 
�����	C
�F�J������ 0��  ���$�#�	C
�FN���NO��N���� !
0�#� ��0�  1.5  
C��C�	�

3. ����	�"�M�	����'��	� '��
��	5()���0�
N#���'
�	����"�"����%  ��#�$G#�J�������I�"

�	�"�M�	��$�#
�& �  ��#�
��"
�	��������%
*���$�#�	�"�M�	���C"��0���'�	� '��
��	5
4. �	���J������ 0�����K�

N#����"���#�  H" ��%� �	�"�"���
�	����"�"����%  ��#�$G#�J��

�����I�"�#��N���NO�����C"� �0N#���	� ���
"
5. ��"
�	����"�"����%  $G#�����'��'�	�"�M�	����#����'�P#� ���
C
�� 
p� "5 ���


"C
��#����!��'�����F�D�
C  103-105  ��%�
(�
(� �  $���#�'
���
���  1  G���H
�
6. ���!�$�0$�
"��C
�
��	5��#���0� $�#
 O�G����J���������
*C�
N)J�
2.3 �	�%�	��\

N���NO��N����   (
�./�)     =           (A-B)  x  1000
              �	C
��	�J������ 0�� (
C��C�C�	)

H"    A   =   �J������P#� 	�
� �0����	�C
�	���5  (
C��C�	�
)
          B  =    �J������P#� 	�
� ������	�C
�	���5  (
C��C�	�
)
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3.  �	���
%�	'�S Biochemicaloxygen demand(BOD)

3.1 
%��������&"'��$��\S

1.   N�"��#�
��	6��N��"'		��  250 9 300 
C��C�C�	
������"!"#��C�   �����#��
���
�O��#�   ���$�#
�	0��	� 
�������������N�"
*���$�#
��J����0������ �0
�
�  NF�  Incubate ���
20 ��%�
(�
(� � 
*��������	")�����%���D� ���
N#�!�$�N�" N�"��J�#���#��$�#����" ����	�J�
�0��$G#

2.   'C�
	� N��" 50  
C��C�C�	  ���N���J�'	C
�F'C�
	�
3.   �	�'�����N��"  1 �C�	
4.   ��
�� N��" 10 
C��C�C�	
5.  ��#��'��
��F�
D�
C��� 20 ��%�
(�
(� �
3.2 �	�"'"	����-.�

1.   �J�������'	C���EC�  
*���$G#
�	� 
�J������	�'��	
������ �	�%������	�� ���	�
�� ���


���"0��  (Alkalinity)    �	" �����	�C��	� 5 
�����"���!"#!
0
�C� 0.01 
C��C�	�
�0��C�	

2.   ��	���� p��
p�'�p
p�	5  ����   HK2PO421.75   �	�
 KH2PO48.5   �	�

Na2HPO4.7H2O   33.4   �	�
  ���  NH4CI 1.7  �	�
 $��J��������	�
�F 500 
C��C�C�	  ��#����$�#

�������	C
��	
���   1 �C�	  ��	���� ��J��	
��0� pH 
�0���'  7.2

3.   ��	���� �
���
(� 
(��
p� ����   MgSO4 . 7H2O  22.5  �	�
   $��J������� ��#����
$�#
�������	C
��	
���  1 �C�	

4.   �� ���� ���
(� 
���!	"5  ����   anhydrous  CaCl2  27.5  �	�
  $��J���������#����
$�#
�������	C
��	
��� 1 �C�	

5.   ��	���� 
p�	5	C���!	"5  ����   FeCl3.6H2O 0.25  �	�
   $��J������� ��#����$�#
���
����	C
��	
���  1 �C�	

6.   ��	���� �	"���"0��  1 ��	5
��   ����	�'$G#�	�'�0�  pH  $�#
�������
7.   ��	���� H(
"� 
(��!p�5  0.025 ��	5
��  ����  Na2SO3  1.575  �	�
  $��J�������

��#����$�#
�������	C
��	
��� 1  �C�	 ��	���� ��J��� ���!"#�0�   �)���	
�	� 

I*��
������
�#����	$G#
�0���J�
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3.3 ��5��	���
%�	'�S

3.3.1   ��	
�	� 
�J������	�'$G#
������
1.   ����J�������$�#
����0��	C
��	����#����	$G#  1  �C�	$�0��$�D�G���������"
2 .  
�C
��	���� p��
p�'�p
p�	5 �
���
(� 
(��
p�  ���
(� 
���!	"5  ���
p�	C���

!	"5 ��
���"�'  $G#��	���� ��0��G�C"  1 
C��C�C�	  �0��J��
������  1 �C�	
3.   
�u�����%�������" 
*���
*C�
�	C
�F���(C
��$��J��
���� 0���#�  1  G���H
�
3.3.2   ��	
�	� 
���� 0���J���������
1.   ���� 0���J�����
���"0���	���	"���#���	�'  pH   $�#
�������  ����	�
�F  7 "#�   �	"

(��p�	C�  1  ��	5
��   �	��H(
"� 
!o"	��!("5    1  ��	5
��  ��#���0�	F�
2.   ���� 0���J�����
���	�	���'���	�����#��  H��������	����	
���*CMG�C"����
�����

� �0���#��%)�M���������"
�� �0��
���*C
%M
3.3.3   �CE���	���
������
1.   
����
��	5
(O��5���� 0��$���	
�����������"�0��0�  BOD5   � �0$�G0����������"��#��)�


����
��	5
(O��5
��������������0�  ���������0�  ���� �0�C"������  2  N�J�  ��
��	��K������ 1    "����J��)�
��		�#�0�  BOD5  H" �	�
�F�0��

2.   �0� Y  	C��J�� ����	�'��	���
������  700-800  
C��C�C�	  ��$��	�'�����N��"  1
�C�	  H" * � �
� 0�$�#
�p������%

3.   
�C
���� 0���J������������#����	  ��#�
�C
�J������	�'��	���
��������!"#�	C
��	
���  1
�C�	

4.   ��$�#
N#����H" $G#��0���#�
�� '��� ��!�#������   G�J�N)J���
'� Y  H" 	����� 0�$�#

�C"p������%

5.   �0� Y 	C��J������ 0��K�
$�#
N#����"���#�  ��#�$�0N�" '�H�"�  �����#��������"��
�O

3  N�" ��"���$�#��C� ���!�
�O'$���#   Incubator ��� 20 ��%�
(�
(� � 2   N�" ���N�"�J��!����0�
DO �����"
	C�
�#� (D1)

6.   ���
G0�
"� ������J���0N#�  3.2  P)� N#�  3.5 ����	�'
��	5
(O��5���� 0��
��������������0�
���������0���
���"�'

3.3.4   ��	���	C
�F  DO   �����"
	C�
�#� H" ��E�  Azied Modification of The  Idometric
Method "��	� ��
�� "N#� 5
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3.3.5  ��	
*��
��J �  (Incubation)

*��
��J �H" 
�O'  2  N�"N����0��
��	5
(O��5���� 0��
������$���#
 O�
��  ��F�D�
C  20±1

��%�
(�
(� �  
���
��� 5  ���  �)�������
����	C
�F  DO (D2)   ��
���N#����   4
3.3.6  ��	��'��
��FD�*�J��
������
	C��J����������$G#
������  ��0!
0!"#$�0�J��
G�J���!�$�N�"  BOD  2 N�" ��"�����#�
��N�"

��)��
*�����  20  ��%�
(�
(� �  �0�����N�"��)�����	C
�F DO  �����  K��0��N��  DO ���!"#!
0
��	�"
�C���0�  0.2  
C��C�	�
�0��C�	

3.3.7   ��	*C��	F�K�
*���$G#�����F�0�   BOD
K�����0�
G���P�������$G#�����F�0�!���J�  ���#��
��0��	C
�F   DO  � 0���#�   1.0


C��C�	�
�0��C�	   ����#��
���	�"�	C
�F  DO ��!�� 0���#�    2  
C��C�	�
�0��C�	N������ 0��
�J����������	
������  �)������$�#�0�  BOD   ��������	���
�P���#�������"

3.3.8   ��	�����F  ("�$����N#�  ��	�����F���(C
������ !"#)
�	�	�+������  1  ./��!��%/	  BOD   &"'��5��	�
����	��#�	

G0�� BOD5 
��	5
(O��5N������ 0��
20,000 9 70,000
10,000 9 25,000
4,000 9 14,000
2,000 9 7,000
1,000 9 3,500
400 9 1,400
200 9 700
100 9 350
40 9 140
20 9 70
10 9 35
4 9 14
0 9 7

0.01
0.02
0.05
0.1
0.2
0.5
1.0
2.0
5.0
10.0
20.0
50.0
100.0
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4.  �	���
%�	'�S Dissolved oxygen (DO)   1 ���5� Azide modification of the iodometric method

4.1 �	�"'"	����-.�

1.   ��	���� �
������(��
p�  ����   MnSO4   4H2O   480  �	�
  �	��  MnSO4   4H2O
400  �	�
  �	��   MnSO4   4H2O   364  �	�
  $��J�������   �	����#����$�#
�������	C
��	
���  1
�C�	  ��	���� ��J�#��!
0
�C"����'�J��

���
�C
��	���� ������$�#
����	"��#�N��  KI

2.   ��	���� !�H�!""5-
�!("5����   NaOH  500   �	�
   ��� Nal  135   �	�
  $��J��
�������#��	�'�	C
��	
���  1  �C�	  ����   NaN3  10   �	�
  ���� $��J�������  40 
C��C�C�	   ��#�

�C
��$���	���� N#���#�

3.   �	"(��p�	C�
N#
N#�
4.   �J����e��C�"C
�
��	5 ����    Soluble  starch  �	�
   $��J���#
�	�
�F 800   
C��C�C�	

��$�#
N#����
�C
�J��$�#!"#  1  �C�	  �#
�J��$�#
"��"�	�
�F  2-3  ����   ��J��#�����!�# $G#��0�J��$� Y
N#��'�  
�C
�	"   Salicylic    1.25  �	�
�0��J����e�  1  �C�	   �	��$G#  Toluene  2 9 3  � "  
*����e��
�����	
�	C�
�C'H�N���'���
	� 

5.   ��	���� 
��	6��H(
"� 
!EH�(��
p�   0.025  ��	5
��   ����   Na2S2O3.5H2O
�	�
   $��J�������  
�C
   NaOH  0.4   �	�
  
������"#� �J���������!"#�	C
��	
���  1 �C�	  �����	
Standardize  "#� ��	���� 
��	6��H����
(� 
!'H�
"�

6.   ��	���� 
��	6��H����
(� 
!'H�
"�   0.025 ��	5
��   ����   KH(IO3)2   0.8124
�	�
 $ ��J��������	�'��!"#
��	  1  �C�	

4.2 �	��	%/	�	��b	�!���	�"'"	�1�
 ���251���"
^�  0.025 ���S��"   ����	�"'"	�

�	��b	�1$���
����2�1�
 �

1.   ����   KI  2   �	�
  $�N�"��#�
��
��


 �	5p���  "#� �J�������  100- 150  
C��C�C�	
2.   
�C
   H2SO4  (1+9)   10  
C��C�C�	
3.   ���
�!�
�	�!�H�"�����P��N�'���
�"#� ��	���� 
��	6��H(
"� 
!EH�(��
p�

0.025  ��	5
��  ���
�	� 
!�#  ���	�����$��#P)���" ��C   ���
�������N����	���� �����  
�C
�J����e�
1  
C��C�C�	  !�
�	��0���P)���" ��C   P#���	���� 
��	6��H(
"� 
!EH�(��
p����
�	� 
!�#
�
���

N#
N#�  0.025  ��	5
��*�"�  �	C
��	���$G#$���	!�
�	���
�0���'  20.00   
C��C�C�	   P#�!
0
!"#$�#�	�'���

N#
N#�N����	���� 
��	6��H(
"� 
!EH�(��
p�$�#
�0���'  0.025  ��	5
��
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4.3 ��5��	���
%�	'�S

1.   ������� 0���J�����
�O'!�#$�N#�  3.5 ���
�
�C
��	���� �
������(��
p�   1  
C��C�C�	
��!�$�#KC��J��

2.   
�C
��	���� �����!�-!�H�!""5-
�!("5  1  
C��C�C�	  ��!�$�#KC��J��
3.   ��"���  	����� 0�$�#
�p������%�C"� �0$�N�" ��'N�"�������
N 0����''*�C��u�
��$�#

N�"��J�N)J��������������'���� 0���#�   15  �	�J�
4.   ��0� $�#��������
�C"N)J�����#�  	���!"#�J��$��0��'��	�
�F  100 
C��C�C�	

�0�  Y  
��"�����#�
�C
�	"
N#
N#��������  1  
C��C�C�	  H" �0�  Y  $�#�	"!����!�  ��
��N�"
5.   ��"����0�  Y  
N 0����'!�
� ���	�������������� �
"
6.   ��J��CJ�!�#
*���$�#!�H�"�����
�C"�	��� !�����N�"�0��	C�
7.   �����	���� ���!"# 
*���$G#$���	!�
�	�H"  )"P���	C
��	
	C�
�#�N������ 0���J��

200  
C��C�C�	   
������� �������  P#�N�"  N��" 300 
C��C�C�	  ���
�C
��	���� �
������(��
p�
�����	���� �����!�-!�H�!""5-
�!("5  	�
  2  
C��C�C�	   "����J��	C
��	��������
�
*���!�
�	�
�)���	
���

200 x 300 =    201   
C��C�C�	
  (300-2)

8.   ����	C
��	��	���� ��������F!"#
�!�
�	� "#� ��	���� 
��	6��H(
"� 
!EH�
(��
p�   0.025  ��	5
��  ��!"#��
������0�� Y  
�C
�J����#�  1-2 
C��C�C�	   ��#�!�
�	��0���
�	��������J��
�C��� !�

4.4 �	�%�	��\

1) ���(C
������   (DO)
1 ml 0.025  N Na2S2O3 = 1 mg/L DO  ($��J������ 0��  200 
C��C�C�	)
2)  BOD5   (

���!
0
�C
���
G�J����C��	� 5)

BOD5 (mg/L) = (D1 - D2)/P
3)   BOD5   (

���
�C
���
G�J����C��	� 5)

BOD5 (mg/L) = [(D1 - D2) 9 (B1 9 B2) f] / P

H" ���    D1=   �0����(C
������ $�����	�   (
C��C�C�	�
�0��C�	)
                           D2=   �0����(C
������ $�������  5   (
C��C�C�	�
�0��C�	)
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 P =    ���	��0��N����	
���������� 0���J��
       B1 =  �0����(C
������ $�����	�N�����
G�J����C��	� 5(
C��C�	�
�0��C�	)
       B2 =  �0����(C
������ �J��$������� 5 N�����
G�J����C��	� 5(
C��C�	�
�0��C�	)
        r   =   ���	��0��N���	C
�F���
G�J����C��	� 5$����� 0���J���0��	C
�F���
                 
G�J����C��	� 5$����� 0���J�����
�	� 
!�#  ����	�'��	��#�0�
��������
                  ��	
�C
���
G�J�
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5.  �	���
%�	'�S Chemical oxygen demand (COD)

5.1 
%��������&"'��$��\S

1. G�"	�p���(5  �	���'"#�   N�"N��"  250  
C��C�C�	  ()��
���������"#�   Ground  glass
joint  24/40  ���  Condenser  300  mm  jacket  liebic  ()��
�N#��0��#� "#�   Ground  glass joint
24/40.

2. 
��
K��K0�
��O����
	#��
3. 'C�
	�  N��"  50  
C��C�C�	
5.2 �	�"'"	����-.�

1. ��	���� 
��	6��H����
(� 
!"H�	

�  0.025  ��	5
��  ����   K2Cr2O712.259
�	�
  (�'��#����  103  ��%�
(�
(� �)  
���
���  2  G���H
�  $��J�������  ��#�
�C
�J����!"#�	C
��	
1  �C�	  (P#����
���$�#
�C
�	
(��p�
C�  120  
C��C�	�
  
*��������"��	N�"N�����	��
��������  NO2)

2. ��	���� �	"(��p�	C�   
�C
  Ag2SO4  ����	"(��p�	C�
N#
N#�"#� ��"�0��  5.5  �	�

N��   Ag2SO4  �0� 1  �CH��	�
N���	"(��p�	C�
N#
N#�  ��J��CJ�!�#  1-2  ���  
*���$�#���� 

3. ��	���� 
��	6��
p�	5	����
H

�� 
(��
p�  0.1  ��	5
��  ����   Fe(NH4)

26H2O  39.2  �	�
  $��J�������  
�C
�	"(��p�	C�
N#
N#�  20  
C��C�C�	  ��!�  ���$�#
 O���#�
�C
�J��
��������	'  1  �C�	

4. ��	���� 
p�	5H	�C�"C
�
��	5  ���� p&���H�	���H
H�!o
�	�(1-10
Phenanthroline  monohydrate)  1.485  �	�
  ���   FeSO47H2O  695  
C��C�	�
  $��J���������!"#
�	C
��	  100  
C��C�C�	

5.3 ��5��	���
%�	'�S

1. ������� 0��$��	C
��	  20  
C��C�C�	  ����	�'�	C
��	  �J���������
�	5
���C��JN��
�J�� �
�
�H" "������	��K��� 2  
*��������	��0��N������ 0����'�J�� �
�
������
�C


2. 
�C


�	5�C�	�(II) (��
p�  (HgSO4)  ��
���	��0����������"$���	��K���  ���$�0���
��#�  (Glass beads)  4-5  

O"

3. 
�C
��	���� �	
(��p�	C�  (()��K�
  Ag2SO4� �0�0����#�)  ��
��	��K���  2  � 0��
G#� Y  *	#�
��'
N 0�
*�������   HgSO4  �����	���$�#
 O�NF�
N 0�  
*�������
��� ���	����� !�
N����	���
���!�$����� 0��

4. 
�C
��	���� 
��	6��H����
(� 
!"H�	

�  0.025  ��	5
��  ��
�	C
��	��������"
$���	��K���  2  ���K�
����	�J�

5. �0�  Y  
�C
��	���� �	"(��p�	C�  ��
��	��K���  2  K�
$�#
N#����
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6. ���N�"	�p���(5!��0�
N#���'
�	����  Condenser  
��"�J��$�#!��K0�����
"�
(�	5  �0��

��"
�	����$�#���
	#��  �#
$�#
"��"���  2  G���H
�  ��0� �CJ�$�#
 O�  
�C
�J���������!�  80

C��C�C�	  K�
$�#
N#����

7. ���!�
�	���'��	���� 
��	6��
p�	����
H

�� (��
p�  0.10  ��	5
��  H" $G#

p�	5H	�C�  2-3 � "  (0.1-0.15  
C��C�C�	)  
����C�"C
�
��	5  P��
����"���
���	
���� ������������
�J��
�C�-
N� �
������J������"������
�����" ��C  P)��
#�0�

�����J��CJ�!�#  2-3  ����  ���J��
�C�-
N� ������'
���
��O��


8. ����'���5H" $G#�J�������$��	C
��	���
�0���'���� 0��  �����		�p���(5
�
������� 0��
����	���		�
��J��J�� �
�
����$G#"#� 

�	�	�+������  2  �#�	����&"'%�	�
!��!��!���#�	�	
%�����-.����!�	 !�������/	�

Sample
Size
(ml)

0.25 N
S t a n d a r d   
Dichromate
(ml)

Conc.H2SO4

with  Ag2SO4

(ml)

HgS8O4

(mg)
Normality
of  Fe(NH4)2
(SO4)2

Final     volume
before  titration
(ml)

10.0
20.0
30.0
40.0
50.0

5.0
10.0
15.0
20.0
25.0

15
30
45
60
75

0.2
0.4
0.6
0.8
1.0

0.05
0.10
0.15
0.20
0.25

70
140
210
280
350

5.4 �	��	%�	�
!��!��!���	�"'"	��	��b	�
^����&��1�
������"
^� 0.1 ���S

��"

1.$G#��
��"�"��	���� 
��	6��H����
(� 
!"H�	

�
� 0.025 ��	5
�� 10 
C��C�C�	 
���
���$�#!"#�	C
��		�
 100 
C��C�C�	

2. 
�C
��	���� �	"(��p�	C�  (Ag2SO4    � �0�0����#�)
3. ���!�!�
�	���'��	���� 
��	6��
p�	����
H

�� 
(��
p�  0.10  ��	5���  H" $G#


p�	5H	�C�
����C�"
�
��	5  2-3  � "  ��" ��C���  ��"�����N����	���� 
���� �����J��
�C���

N� �

������J������"�
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��	�����F
1)  Normality of FAS =            �	C
�F  K2Cr2O7  (ml)  x  0.25

                                                                            �	C
�F  FAS ���$G# (ml)

2)  COD (mg O2/L) =                      (A-B) x N x 8000
                                                                          �	C
�F���� 0��  (ml)
H" A = �	C
�F FAS ���$G#����	�'��	!�
�	��'���5 (
C��C�C�	)

B = �	C
�F FAS ���$G#����	�'��	!�
�	����� 0�� (
C��C�C�	)
N =  ��	5
���C��JN��  FAS  ���$G#$���	!�
�	�
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6. �	���
%�	'�S Total kjeidahl nitrogen (TKN)

     6.1 
%��������&"'��$��\S

1. 
�	����
������	�'��	 0� ���   �	���'"#�     Kjeidahl flash    N��" 800 
C��C�C�	   
�
Heating  device  ()����
�	P���$�#�J�������  250  
C��C�C�	  
"��"!"#D� $�
���  5  ����  ���$�#
��F�D�
C!"#	���0��  344-371  ��%�
(�
(� �

2. 
�	����
������	�'�����	�����  ()���	���'"#�   Kjeidahl flash   
��	�
���N#��'� ���
Condenser  $����"C��

3. 'C�
	�  N��"  25  
C��C�C�	
       6.2  �	�"'"	����-.�

       1. �J�����������	�%�����
H

�� 
       2. �J�� �����	�' 0� ���   (Digestion   reagent)   ����   K2SO4     134  �	�
   $��J�������

650  
C��C�C�	   ����	"(��p�	C�
N#
N#�  200  
C��C�C�	   ��$�#
N#����  
������"#� �J�������$�#��	
���� 
��	C
��	  1  �C�	   
�O'	��M������F�D�
C  20  ��%�
(�
(� �   
*����e�������	��K�)�

       3. ��	���� H(
"� 
!o"	��!("5 9 H(
"� 
!EH�(��
p�  (Sodium  Hydroxied  Sodium
Thiosulfate  Reagent)  ����   NaOH  500  �	�
   ���  Na2S2O3 .5H2O    25 �	�
  $��J����������$�#

������
���  1  �C�	

       4. ��	���� �	"'�	C����
�C
�C��C
�
��	5   (Indicating   Boric  Acid  Solution)   ���� 
H3BO3   20  �	�
  $��J�������  
�C
��	���� �C�"C
�
��	5K�
  10  
C��C�C�	  (
�	� 
H" ���� 


�EC�
	"  200  
C��C�	�
  $�
��EC������o��5  95%  ������  100  
C��C�C�	   ������� 

�EC���'�
�  100  
C��C�	C
$�
��EC������o��5  95%   ������  50  
C��C�C�	   �����	���� ��J����G�C"
�
K�
���  
�	� 
$G#��0��
"���)   
������$�#
���  1  �C�	   
�	� 
$G#��0��
"���

        5. ��	���� 
��	6���	"(��p�	C�   0.02  ��	5
��   H" 
�������	"(��p�	C�   1  ��	5
��
������  20   
C��C�C�	   "#� �J�������  ��#��	�'�	C
��	
���  1  �C�	

        6.3 ��5��	���
%�	'�S

        1.   $�0�J������ 0��  300  
C��C�C�	   ��$�N�
��"��5�  N��"  800  
C��C�C�	  ���
�C
���
��#�  3 9 4  

O"
*��������	
"��"� 0��	���	�D� $�N�"   ��#������	�	�'*�
�G$�#!"#�	�
�F  7

�	� 
�'���5H" $G#�	C
��	  300  
C��C�C�	  
G0���� (P#����
���$�#�����	
���������� 0���J�����$G#
"#� �J���������!"#�	C
��	  300  
C��C�C�	  ��#����$�#��
�C���*�
�G
�0���'  7)

         2.   
�C
�J�� �����	�' 0� ���    50  
C��C�C�	   ��$�N�"
��"��5�
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         3.   �������K�
$�#
N#����"���#�   ���N�"!����$�
�	����
������	�'��	 0� ���   ()��� �0
$���#���� 0� ���	�����
�C"������N��N��   SO3   $�# 0� �0�!�
	��� Y ��!"#��	���� $�   (�	����
p��(�" Y )   �����J� 0� ��� �0����   20 9 30  ����  ��"!p�����0� �CJ�$�#
 O�

         4.   �J�������   300  
C��C�C�	   
N 0�$�#
N#����
         5.   
�� �N�"����0� Y  	C���	���� H(
"� 
!o"	��!("5!EH�(��
p�  50  
C��C�C�	

��!���
K���N��N�"���$G#$���	 0� ���    (�#�

N 0���	���� 
*	����
�C"���
	#��N)J����
��
H

�� ��p�e����
������	���� )

         6.   �0�N�"
��"��5�
N#���'
�	���������  �����	�����H" $�#���
	#�����*�
�
��  
�O'
�0�������������
�  200  
C��C�C�	   K0�����"��#� �����0
� �0$���	���� �	"'�	C����
�C
�C�"C
�

��	5    50  
C��C�C�	   

���������	'  200  
C��C�C�	   
�����N�"
�O'��	���� ���!"#�����	��������

         7.   ���!��	�'�	C
��	"#� �J�������$�#!"#  500  
C��C�C�	   ��#����!�!�
�	�"#� ��	
���� 
��	6���	"(��p�	C�  0.02   ��	5
��   ���	�������
N� �N����	���� 
���� �
�����
0��
�0��

         8.   �'���5   $G#�J����������K0��N�J�������� 0��
�
���������� 0��

         6.4 �	�%�	��\

Mg/L TKN =   (A - B) x N x 280
   �	C
��	���� 0��  (
�.)



���   A =  
C��C�C�	N���	"(��p�	C����!�
�	����� 0��
         B =   
C��C�C�	N���	"(��p�	C����$G#!�
�	��'���5
         C =    ���

N#
N#�N���	"(��p�	C�
�����	5
���C��J
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7. 2!���&"'�#�	���  (Fat oil and grease)

7.1 
%��������&"'��$��\S

1. G�"���"G��o5
��
2. 
�	����"�"�������% (Vacuum pump)
3. �	� '��
��	5   (Buchner funnel)
4. G�"�"�	C
��	 (Rotary evaporator)
5. N�"���"   (Extraction flask)
6. 
�	����G�����
�� "
7. ��#�'
8. �	�"�M�	��
'�	5 40 N��" 7 (
.
9. 
��(5��	�(���C

'C�  (Extraction thimble paper)
10. �����#�
7.2 �	�
%��

1. �	"!oH"	���	C�
N#
NCJ�
2. 
o�
(�  (n - Hexane)
3. Diatomaceous 9 Silica  filter  acid  suspension  ���

N#
N#� 10 �	�
�0��J������� 1 �C�	
4. �����
 7.3  ��5��	���
%�	'�S

1. 
�O'���� 0���J��  1  �C�	  (�	���	C
�F�#� ��0�)  ��#��	�'*�
�G"#� �	"!oH"	���	C�

N#
N#�$�#�#� ��0�  2

2. 
�	� 
�K0��	��"�"(�'�J��
��H" ����	�"�M�	��$��	� '��
��	5��#�
�  ��	�N��
��    Diatomaceous  Silica  
N#
N#�  10  �	�
�0��C�	  ������  100  
C��C�C�	   ��!� $G#
�	����"�"
�������%  "�"�J������#��#��"#� �J��������	�
�F  1  �C�	  "�"�J���������#�

3. �	������ 0���J�����
�	� 
���N#�  1  K0��'��	�"�M�	�����
��K0��	��"�"(�'�J��
��� �0
 (N#� 2)  "�"�J���������#�

4. $G#��
��'�	�"�M�	�����!�$�0$��C

'C�  $G#�����G�'
o�
(�         
GO"!N
������C"P#� 
'��
��	5$�#�
"��#���������$�0$��C

'C�"#� 

5. ����C

'C�!��'$�#��#������F�D�
C  103  ��%�
(�
(� �  
���  30  ����  $�0

O"��#�$�#

�O
�C

'C�
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6. G����J������N�"���$G#���"  ()��!"#���$�#��#����
��J�����������  (�'��#������F�D�
C  103
 ��%�
(�
(� �)  �

�C
�0���'  A  �	�
  $�0
o�
(�$�N�"���"  200   
C��C�C�	

7. ����C

'C�$�0$�G�"���"(��
��o5  �����	���"H" $G#
o�
(�
���       ���������� "#� 
���	�  20 	�'�0�G���H
�  
���
��� 4 G���H
�  H" ��'���
	C�
���"	�'�	�  �0�
�	����
�������	���"

8. �����
o�
(����N�"���"$�
�	����G�"�"�	C
��	  (Rotary  evaporator)  �������#�
(��
�	P���
o�
(����'
�$G#!"#���)

9. ���N�"���"!��'$���#�'��F�D�
C  69  ��%�
(�
(� �  �	�
�F  30  ����   ��#���0� 
$�#
 O�$�HP�����#�  �����J����!�G����J�������

�C
�0���'  B   �	�


7.4 �	�%�	��\

! N 
� � � � � �J� �
� �   ( 
 � . / � ) =         ( B  -  A )  x  1 0 0
                              �	C
��	���� 0��  (
�.)

H"      A =   �J������N�"���"
	C�
�#�   (
C��C�	�
)
                   B =    �J������N�"���"����������"  (
C��C�	�
)
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4	%+��� !

�	�%�	��\

1. %�	��\
$����
����%/	-.��/	� 1<"��"���
����S%"�2� S &"'�	����

       �0�$G#�0� H*�����
C
�� 
5���!	"5 ���$G#
����J�� 10 % ( 100,000 
C��C�	�
�0��C�	 )
	���N� ��� 10 '���0��CH��	�
  P#�$G#

H*�����
C
�� 
5���!	"5���K���	�"���	�'��0���� 100 
C��C�	�
�0��C�	 ����J�� 1000
�C�	

���            M 1V1   =   M 2V2

   100,000   x V1     =  100 x 1,000
                      V1     =   1 �C�	

���$G# PAC�J��10 % ����	�
�F 1 �CH��	�
 P#�'��'�"�J��
��  1,000 �C�	 �#��$G#�0�$G#
�0�  10 '��

�0�$G#�0�  ��	�#
���K���	�"���	�'��0���� 300 
C��C�	�
�0��C�	  H" ��	�#
	���
N�  8 '���0��CH��	�
  �����	�����F��
�� �0�$G#�0� �	�
�F  2.4 '���0� 1,000 �C�	

      2. �	�%�	��\$���	\�#�	��#�
!�	��/�'��"���'��� ���%�"���S
�	C
��	����
�5 N��" ��� 1.50 

�	 
�#�K0�%�� 5���� 0.15 

�	   
�0���' 0.026

���'�%�5

�	 �	�� 26.50 �C�	
�J���CJ��#��$G#
���� �0$�����
�5  10 ����

*	��I���J� �	C
�F�J���CJ����
N#���0����
�5 
�0���' 2.6 �C�	�0�����
�	�� 0.156 ���'�%�5

�	�0�G���H
�



72

      3. �	�%�	��\$���	\�	�
%���������
���"�-��#�	��#�
�. $G#��	�0��������� ��	�#
������

N#
N#�  300 
C��C�	�
�0��C�	


�	� 
��	���� ��	�#
 H" $G#��	�#
 1000 �	�
���� $��J�� 10 �C�	   
���                                       M 1V1   =   M 2V2

   100,000   x V1     =  360 x 2.6
                      V1     =   7.8  
C�C�C�	
"����J�
�C
��	�#
��� �	�
�F 8 
C��C�C�	�0�����
N.$G#��		�
�������� H*��

�	5�''�	���'�����

N#
N#� 3  
C��C�	�
�0��C�	


�	� 
��	���� H*��

�	5�''�	���'�� H" $G#H*��

�	5�''�	���'�� 10 �	�
���� $��J�� 10
�C�	 �C"
��� 1,000 
C��C�	�
�0��C�	
��� M 1 V 1      =  M 2 V 2

1,000  V 1  =  3 x 2.6
           V 1    =  7.8 
C��C�C�	

"����J�
�C
H*��

�	5�''�	���'����� �	�
�F 8 
C��C�C�	�0�����

     4. �	�%��%������	�	�2�"!��$���	\�#�	��#�
$���	�"�����'��
H" ��	$�#�J��K0��
N#���0P��K�
 ()���J���CJ��0�������������

P��K�
��
���	!��K0��
�� 	5��

���� 
G�C" 60o

����
��	 Q = 0.85 H 2.5

                     26.50 = 0.85 H 2.5

H = 2 
(��C

�	
�J���CJ����������
�� 	5��

���� 
G�C" 60o�#��
� H �	�
�F 2 
(��C

�	

       5. %�	���%/	2^^_	���-.�-��/�
����	�	(
5.1 �'��$j������

'0�
�C
����%�k���'��$G#
�	����
�C
����%
�'' 10 �	�
#� 6 ���
�'' 7.5�	�
#� 2 ���

��'��
��	
��"
�	����
�C
����%� �0���  35 - 40 �	�
#� ( 7.5 �	�
#� 2 ��� ��� 10 �	�
#� 2
��� �	�� 10 �	�
#� 4 ���  )
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�C"
��� 26.25 9 30 �CH�����5/G
.
�	�
�F�0�!ppe���� 20 '��/�CH�����5

*	��I���J�	�'''��'�"�J���CJ�
���	$G#�0�!ppe���� 525 9 600 '��/G
.�	�� 12,600 P)�

14,400 '��/���

5.2 �'��
�������'��"���'���&��%�"���S

'0�
�C
����%N�����H	���� 
����'' Exteded Aeration ()���#��$G#�	C
�F����%���
�C

$�#��''0�
�C
����%�	�
�F 125 ���'�%�5

�	�0��CH��	�
N�� BOD5 ( 
�	� �%��"C�    ��"
�C�
H	��5 ,2535 )
BOD5 ���
N#�	�'''0�
�C
����%���
�  32.83 
C��C�	�
�0��C�	 �J���CJ�
N#�	�''��� 200 ���'�%�5�5

�	
�0����
�CH��	�
N�� BOD5              200 x 0.3283  =   6.56 �CH��	�

'0�
�C
����%���
����#��$G#����%     6.56 x 125    =   820.75 ���'�%�5

�	�0����
����%
����
�����0� 1.201 �CH��	�
�0����'�%�5

�	
	�''$G#����%      820.75 x 1.201 =   985.72 �CH��	�

����%
� ���(C
�� 23.2 % H" �J������
	�''$G#���(C
��  985.72 x0.232 =  228.68 �CH��	�
�0����

                                �	�� 9.52 �CH��	�
�0�G���H
�

�	����
�C
����%�''	�'���

	O�����
����	���	$�#���(C
�� ����	�
�F 1.22 9
3.04  �CH��	�
���(C
���0��CH�����5�0�G���H
� ( 
�	� �%��"C�   ��"
�C�H	��5 ,2535 )
�C"���	���	$�#���(C
�� ����	�
�F 2 �CH��	�
���(C
���0��CH�����5�0�G���H
�
"����J�$G#
�	����
�C
����%��� 9.52 / 2  =  4.76 �CH�����5�0�G���H
�
�	�� 6.38 �	�
#� �	���	�
�F 7 �	�
#�



����J��
N#�	�'''0�
�C
����%������
���	
*C�
	�''�� �����"#� ����
�5 ��
�	P�"��	

��"
�	����
�C
����%$�#� �0���  7.5 - 10 �	�
#�

�0�!ppe� 5.58 9 7.45 �CH�����5/G
. �	�
�F�0�!ppe���� 20 '��/�CH�����5  
*	��I���J�
	�'''��'�"�J���CJ�
���	$G#�0�!ppe���� 111 9 149 '��/G
�	�� 2,664 P)� 3,576 '��/���.
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     6. �	�%�	��\$���	\1$�������2 �1 �$�'�	\ 1 �-.�!����"�	��'��"���'���&��%�"���S
1��$�'"�����(]�)	

�J���CJ�
N#�����
�5 10 ���� "#� ���	� 2.6 �C�	�0�����  �C"
��� 26 �C�	
�J�������J���CJ� (�J��+TDS )  TDS = 1700 
C��C�	�
�0��C�	
�J�������J���CJ� 
�0���'            26,000 + ( 1.7 x 26 )  =    26,044.2 �	�

��	�#
 $G# 300 
C��C�	�
�0��C�	 �����	�����F $G# 8 
C��C�C�	�0����� �	�� 80 
C��C�C�	�0�
10 ����
�J��������	�#

�0���' ( �J��+�	C
�F��	�#
 )  80.024  �	�

H*��

�	5 $G# 30 
C��C�	�
�0��C�	 �����	�����F $G# 8 
C��C�C�	�0����� �	�� 80 
C��C�C�	�0� 10
����
�J������H*��

�	5
�0���' ( �J��+�	C
�FH*��

�	5 ) 80.0024  �	�

	�
�J�������J��
N#�	�''�� �����"#� ����
�5    

26,044.2  +  80.024   + 80.0024   =  26,204.248  �	�

�J���CJ����K0������
�5 
	C�

�O'��������J��
N#�����
�5K0��!� 10 ���� 
�O'���� 0���J��!�#
10 ���� ��P��'		�� 30 �C�	 ()��P��
�	�%
�
�0���' 0.15 

�	 ���
�0���' 0.4  

�	   
��"���
���N���J��!"# 0.365 

�	 �����F!"#�	C
�F�J�� 25.80 �C�	
��� ����J��!��C
�	���5 �� TDS 
�0���' 939 
C��C�	�
�0��C�	
"����J��J�������J���CJ����K0��	�''�� �����"#� ����
�5    

25.80 x 1,000 x 939 =  25,824.2262  �	�

�J�������������0���������J������N�������
�& �
"����J��J�����������
�& ����!"#  26,204.248 - 25,824.2262   =   380.0002  �	�

�	��
GO����
G�J�N�������
�& �!"#��� 70 
��	5
(O��5
"����J� P#��'�����
�& ���#���!"#�������#�
�0���'  114  �	�
�0� 26 �C�	 �	��
�0���' 4.38 �	�

�0��C�	


���
��J���CJ�����	�
�F 200 ���'�%�5

�	 �	�� 200,000 �C�	/���
"����J���!"#�������#�
�0���' 876 �CH��	�
/���
	�������u�$��k���'���CH��	�
�� 15 '�� ��0	����������#�������!�K�
��!"#	����	�
�F
�CH��	�
�� 10 '��
"����J���
�	PN� H�	������� �!"#�	�
�F 8,760 '��/��� �	�� 43.80 '��/���'�%�5

�	
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